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THREE YEAR B.A./B.5¢ I)IC(JRF,I", l'lX/‘\MlN/\'!'!()?‘i, MAY - 2022
CHOICE BASED CREDIT gyYSTEM
FIRST SEMESTER
. PART - | | O MATHEWIAT!CS
PAPER : I- D[FFERENTIAL EQU/\TIONS

(Under CBCS New Regulation W-¢. f. the academ

Time : 3 Hours

i SECTION-A .
Answer any Five of the following questions. Each question carries 5 marks.
(BoB OB o HHod JETTD aob. ©3 B o Sroen GOLFOD:

3 Solve (¢ + 1) cosx dx + €sin dy = 0.
(¢ + 1) cosx dx + ersinx dy =0 & poBob.

v

; idy )
/7 Solve x—+2y—X logx=0.
/V i A

.x%+2y—-x210gx='0 % JooSod. "

3. Solve)= 2xp+ X p'.
L y=2xp+ x2P4 < JpoBok.

A s§1ye (D* +8D* +16)y 0

(D* +8D* +16)y=0® g0,

5 Solve (D —5b2+SD—4)y_e
(D3-—5D2+8D—4)y=e * % Fpood

[4-112-R20 0

[P;T.
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6.

10

n!’ V a’v

Solve - el o O tu i 13y = e sin2x.
dx dx
J Y dy
it e Geon d |3y = Be Msin2x % ool
adx® dx

Solve (D* = 4D +4)y = x.

(D ~4D+4)y=x" & poisol.

Solve (D2 + 4) Yy = xsinx.
(D*+ 4)y =xsinx % FGoScd.
' SECTION - B
(3%

Answer all the questions . Each question carries 10 marks.
oY [HHeS BErerSo Bod. (B8 PEHD BB Srlyen SOLroD.

a)  Solve y(xy+2x’y*)dx+x(xy—x"y*)dy =0.

y(xy +2x° PV + x(xy — ¥y )dy = 0 % Fpood.
' (ORBe)

b) Solve x-;xJi+y = y* log x.

x-—f-l—bc)i%y:y2 logx & FGodok.

a) Solve p’+2pycotx= ¥

.p +2pycotx = y? % FHosod.
(OR/Se)

b) Solve (py +x)(px=y)=2p. |
(py +#x)(px—Y)=2p % FBoisod,

CX Scanned with OKEN Scanner



110 z ~ 2 : 5
. Solve (D° ~4D + 3)y =s8in3xcos2x.

(D*—4D+ 3)y=s8in3xcos2x & dHoisol.
(OR/Ee)

b)  Solve (D* - 4)y=¢" +sin2x+ cos” x.

(D2 —4)y=¢" +sin2x+ cos’ x & JHoisob.

12. a) Solve (D? —4D +4)y =8x"¢"* sin2x.

(D*—-4D+4)y= 8x2e?* sin2x & ypoiod.
(OR/E)

' bf Solve (D> +4D+5)y=¢"+ x> + COS2X.

‘ (D2 +4D+5)y = +x° +cos2x D FBoB08.

13. a)  Solve (D +a*)y =tanax by the method of variation of parameters.

HoPDEH 5531’630) BB &HTeNo) (D* +a ?)y =tanax 3':&01‘50&.
o (OR/éao)

b) Solve x’ dx3

. 1
d3 d2y 10(x+ );6) ﬁ&oiﬁo&
,_. 2; _———+2y
x | dx + 22X dx | H
/
€))
1-1-112-R-20 '
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THREE YEAR B.A./B.Sc. (CBCS) DEGREFE, EXAMINATION, MAY -2022

CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
PART - II : MATHEMATICS
PAPER : 1 - DIFFERENTIAL EQUATIONS
(Revised Syllabus w.e.f. 2016-2017)

Time : 3 Hours Max. Marks ;73

PART-A
, PRED - &
Answer any Five of the following questions. Each question carries Smarks.  (5%5=15)

& Bod TRS" DI wth P SErEEdivey [Fonin. B8 BHD 5 drte.

1.  Solve (1 -x* )%} +2xy = x(1-x")"  HoBol. |
2. Solve (1+xy) ydx+(l—xy)xdy = 0, 3BoS0d.
& ¥ Solve‘(p+y+,x)_(xp+"y+x)=0,.p=%, rHoBod.
o : dy
4. SAOIVC xp3 =a+bp,P= 'Jx" , RoHod.
Ly _dy_ dy '
, LY C 2 6=>=0 -
5.+ Solve & a Ca ,‘i'P@oiﬁo& _
| | - d .
6. Find the particular integral of (D*+D)y=x"+2x, D=—, Gw%) gE&E Shlowd
EHPSod. |
e |
s .Solve 3x2 .f%){% x%+ y=x, Fposod.
8. Solve (D2 & 4) y= 'xsihx; FHotok.
T-1A12R- 57 Wil | [PT.O.
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PART -B
o - B ' (5%10=50)
Answer All questions, Each question carries Ten marks.
o) PHeDH [Srrrdiven [Erahim, B @HHt 10 Sotipe0. Jev Ny =0 to be
¢+ Ney = E
9. a) Prove that the sufficient condition for the differential equation Mo 4

a_on
exact is av B

M ©8ci> Nev xy o6® Bdbaren won8 Mds+ Ndy=0 w3 HIG )

. oM ©oN
J880 SR K)U‘;g?:’)o DHo %y“—'—é: © JGrHobos.

: (OR/Bww)
b) Solve (y2+2x2y)dx+(2x3—xy)dy=0 FHOBos.

llcrc M and N are functions of x and y.

4

el

10. a) SO]VE:‘y—_—yzp3 +2px, P > 1 =2 3"@0&30&
(OR/E»)

b)  Solve x?p? —2xp +(2y? —x*) = 0, P =EX, FBoSs.

11. a) - Solve (D*-3D+2)y=sin2x; D= ao@oao&,
» (OR/ém)
b) Solve (D°+2D*+D)y=sinx+cosx, D= —e , FGoS0s.

12. a) Solve (D2—2_D+l)y xe*sinx, D——- é‘@oéo&
(OR/éao)

b) Solve (D*+4D- 12)y (x l)ezx sinx, D—— 50&01‘50&
'13 Sol b2—3D+2) Zsines (P o
s -a) olve ( 3D+2)y= ) i

Hoedhehe Kby 03858 D EHTPA0D PHoL0E.
' - (OR/Br)

Using method of Variation Parameter,

n

y . * . | d |
b) Solve (x*’D’y+3x’D’y+ ;ch +y=x+logx,D"y= dx{ ,n=123, >fosod.

1-1-112R 2)
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HREE YEAR B.A/B. Se. DEGRELR EXAMINATION -

1-1-112 R

- OCTODER/MNC WEMBER 2010

(CHOICE BASED CREDIT SYSTEM)

FIRST SEMESTER

Part-11 — Mathematics

Paper 1 — DIFFERENTIAL EQUATIONS
(Revised Syllabus w- e.f. 2016-17)

Time : 3 hours

d SECTION - A

Answer any FIVE of the followl

Each question carries D marks.

Max. Marks : 75

ng questions.

Léoa TS DD 0080 9O SATTESAN0 S0

9D @PHB D DI
(Marks : b % 5= 25)

Solve (ch2 + 2x2y3)d}' + (xgy = xsyz) dy=0.
2B0DODN (xy2 +2x%9° )dx + (x y-x y

Solve x% (y - px)= yp°.
B0 = (¥ - px)= yp° .
Solve (D? +4)y =% sin x-
ERASAUNY (Dz + 4) y=xsinx.
Solve xp° =@+ bp -
,@v@oéo:ﬁoo xp =a+bp.

CE Scanned with OKEN Scanner



7. Solve (1)\ - 20 4 '1)3' 8 (.\ & "

Bowaw (D ~2D 4 )y =8t +e”

s o dy 2 :
8 Solve a4y =y log.x.
ax

ArFoBodw v ‘n‘;\_ +y =y log x.
| ‘ SECTION - B
NES - D
Answer ALL questions. Each question carries 10 marks.
©R) ($50% SHEEEB0e EEof. ©F 550 10 25780,

(Marks : 5 x 10 = 50)
9. (a) Solve (1+ay)xdy+(1-xy)ydx=0.
805950 (1+3y) x dy + (1—xy) y dx = 0.
' Or

; dy : ’
(b) Solve o (x2y3 + xy) =1.
o050 %‘X (xzy3 + xy) =1.

2/3

+ %% =

10. (a) Find the orthogonal trajectories of the family of hypocyéloids X a®’®

where ‘@’ is a parameter.
‘a’ Sor0dre &%) 27 + y¥* = o¥? é[s"o;émowxﬁ 002 BOPE JE*e Hewowo By,
SDEBETR) &5, 08. | ‘
' ‘ Or
(b) Solve p®+2py cot x = y2.
FRododw p? + 2py cot x = 2.

11. (a) Solve (D°-6D*+11D-6)y=1+e"%,
803050 (D - 6D +11D - 6)y =1+ ¢
Or
(b)  Solve (D2 ~3D + 2)y = cos 3x - cos 2x. .
A B0BIH0 (D"’ ~3D + 2) Y = €08 3x - cos 2x .

92

b @ 1-1-112 R
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12.

13.

(a)

(b)

(a)

(b)

Solve (D2»+2D+1)y=x-cosx.
RB0BH00 (D2+2D+1)y=x-cosx.
Orx
Solve (D2 -2D +‘ 5) y=e*-sinx.
SEASANNOY (D2 -2D + 5)y =e* .sin x.

Solve (D2 + 1) y = cosec x by the method 6f yariation of parameters.
(D2 +1) y = cosec & 3 5D DEED SES WO FHOVIDN.
R Or
Solve (xzD2 - xD + 2) y = x logx .
EoWOD0 (J:2D2 —xD + 2) y = x logx .

CX Scanned with OKEN Scanner
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[}r;;tal No. of Pages : 3 - 1158087

AMINATION, AUGUST -2021

THREE YEAR B.A./B.Sc. DEGREE EX
CHOICE BASED CREDIT SYSTEM

FIRST SEMESTER
PART -1I': MATHEMATICS

Paper-1: Differential Equations

W.e.f- the acadeinic year 2020-21)

(Under CBCS New Regulation
' Max. Marks : 75

Time : 3 Hours

. SECTION-A
| Dgrifo — & :
Answer any Five of the following questions. Each question carries 5 marks. (5%5=25)
o3 ot [HHES SSrrrssven (FraRod. 8 BED S Sootine.
dy _ P |
1. Solve. - +2xy=e C)
-dy . o 2
E_l— 2xy=e x ) ﬁbo?ﬁo&.
2. Solve ydx—xdy-+logxdx= 0. o)
ydx — xdy + log xdx.= 0% JHoBod. '
3. Solve x2 (y—px)= py. )]
x* (y—px):pzyzés FHood. |
4. Find the particulér value of - : e** | |
T (D-2)(p-3) e )
1 & Gt B €
( D— 2) ( D— 3) ), (228 Qéﬁé@&)&) EHiPHod.
1-1-112-R20 '
| -» ) . *
: [P.T.O.
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(5)

7.

Solve (D?' - 4)y = §in2x,

(13'2 + 4) Y =5in2x % yhHoisod. .
3 :

6.  Solve (D2 —-2D+ l)y = x%e**,

(D*-2D+ 1)y =x%6% % posod.

7. Solve (Dz -—4)y =x2 (3)

(Dz “4)y =x* % PROSOR,

8. Solve [(5+2x)2D2—6(5+2x)D+8]y=0, | | -5

(542 12 ~6(5+24)D+8]y =0 1 rgosos,

SECTION - B ,
question carries Ten marks, (5x10=50)

o, (58 S48 10 smtyen
9. ¥ Guve (x +y +2x)dx+2y dy=0.

Answer All the questions, Eéch
Y BHes DSreeSsmen &

(10)
(x +y +2x)dx+2y dy=0% FROBOR.
, , (OR/ém)
-1
b) Solve(y e ")E-Wl —x* =0 | x]<1, (10)
. in—1,\ dx - . ,
(y-esm )E+\/1—x2 =0 x<1 % gogon
10. 2)  Solvey?logy = py+p?. (10)
y? logy=xpy+ P % FHOBO8,
(ORBwr)
b)  Solvey 4 Px=p*y, (10)
Y+px= pzx4 0 FHosol,
1-1-112-R20 -

2)
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d
11. a) Solve -Zx%+4y_—_ex+sin2x+c052x.

(10)

Zx-;)—+4y = ¢ +sin2x+cos2x D JoyoSod.

, . (OR/Bow)

b) Solve (D’ ~3D+2)y=coshx. (10)

(D? ~3D+2)y = coshx> ool

2 2x (10)

12. a) Solve (D2—4D+4)y=8x e’ sin2x.

(D*—4D+4)y= gx2e?* sin2x % FGoBOB.
(OR/Eor)

d2y‘ dy = 3x .3 . | 10
b) Solve 7.1;2"6;1;“3?"83 sin2x ‘ (10)

d’y dy S o -
2 Y _ 62113y =8¢""sin2x & rhobob.
a a

13. a) Solve (D2 - 2D) y= ¢” sin x by the method of variation of parameters. (10)
e il 3580 oD (D = 2D)y =" sinx & oob.
. (OREw) '
- -, d? d :
b) Solve X Ex—;—) - 3xi—+ Sy= x* sm(log x) : 10)

2 d
e f:zx_;i —3x ?d%}c-»_{— S5y= x*sin (log x) % JBosol.

1-1-112-R20 Qd)
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[Total No. of Pages : 3 1158088 1-1-112-R20
THREE YEAR B.A./B.Sc. DEGREE EXAMINATION, AUGUST -2021
CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
PART - Il : MATHEMATICS
Paper - I : Differential Equatidns
(Under CBCS New Regulation W.e.f. the academic year 2020-21)

Time : 3 Hours ~ Max. Marks : 75
- . SECTION-A
dgrio = @
Answer any Five of the following questions. Each question carries 5marks. (5 x5=25)
O3 mid [$EES SErrEsimen [FoHod. @B BEHD 5 ErEeD,
1. Solve —42xy=e" . , |
olve FRE Xy | . 5)
Pod 2 |
Y 1 oxy=e % Fposoe. |
dx e ‘:
2. Solve ydx—xdy+logxdx=0. 5)
ydx — xdy +log x dx = 05 FGois5od,
3.  Solve x* (y—px)= py. )
2 (y—px)= p’y & Fosob.
4. Find the particular value of 5.
. (D—2)(D-3) ©)
' 2x. :
. e’ ) (BB I
( Do 2) ( D—3) &@55 d&’)ﬁé@&&) EoiPSod.
- 1-1-112-R20
@ [P.T.O.
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5. Solve (1)"2 -} 4)_}) == SIN2X
( D? 4 4)3’ = gin2x & Hoisod.
- 2 2 ’; -
6. Solve (D*—2D+1)y=x"¢""

(Dz —2D+ 1) y == x2e™ & dpoisob.

7. Solve (Dz — 4)}; = x2 y

(D?—4)y = % aposot.

. Solve [(5+2x)" D2~ 6(5+2x) D+8y =0.

[(5 +2x)° D? - 6(5+2x)D+8J y=0 % Foood.
‘ SECTION - B

Answer All the questfons. Each question carries Tgn marks.
O BHod Ssrprssom (o, (58 GBS 10 Srdpe.

9. a) Solve (x2+y2+2x)dx+2yabz=0. -
(x*+? +2x)dx+2y dy = 0  Fpoisod.
- (OR/Bw)

R |
b) S_olve(y—esln x)%-l-\/l'—-xz:O,IxKI.-

sin~ x| dx | | |
(y_e " )E+\/1—x2 =0,x|<1 % FBodod,

10. 'a)  Solve y? log y = xpy _,'_pz.
2 .
¥ logy=uxpy+ p* & poiol,

(OR/Ber)
b) SO]VCy+px = p2x4 , B -
v+ px = p’x* % oS0,
1-1-112-R20 L)
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. a) Solye 40 §
¢ ‘d?+4y=e +8in2x - cos 2x . (10)

d2
PV 5 tH4y=e" +sin2x+cos2x % FHOBOAR,
(ORBer)
b)  Solve (D2-3D+2) y=coshx. (19)

(D2 —-3D+ 2) Y =coshx% Foised.

g 2
12. a) Solve (D —4D+4)y = 8x%e?* sin2x. , (10)

, |
(D —4D+4) Y =8x%e?*. sm2x % JBoBSA.
' (OR/Bw)
- e EX_ ey |

—5— — Q3% oy
b) Solve dx_ | 6dx+13y_8e.xsm2x_ _ (10)

dy.
F—G;-{-By Se sm2x D FPHo[os.

(1 -
- 13. a) Solve (D E 2D)y =e SIn x by the method of variation of parameters. (10)

| ST S0 3589 es@enod (D?—2D)y = sinx  Feosod.

(OR/Bv)
o , | |
'b) Solve x?%— 3x'%-f Sy= x? sin(log x). ‘ (10)
ol
x? 4y 3x%c-+ Sy=x sm(logx) ) ao@oisoa
1-1-112-R20 ) ‘
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THREE YEAR B.A/B. Sc. DEGREE EXAMINATION — OCTOBER/NOVEMBER 2019.

(CHOICE BASED CREDIT SYSTEM)
FIRST SEMESTER
Part-II — Mathematics
Paper I — DIFFERENTIAL EQUATIONS
(Revised Syllabus w.e.f. 2016-17)

Time : 3 hours
SECTION-A |
ES - D

Answer any FIVE of the following questions.

Each question carries 5 marks.

~1
(@]

"Max. Marks :

808 TS" D DEa [FEEto BITEEHD00 FREHID.

98 %)% 5 Sty
(Marks : 5 x 5 = 25)
L Sp].ve’ q(xyz + 2x2y3) dx + (xzy - x3y2) dy=0.
&@oxﬁ);&n (xy2 + 2x2y3) dx + (xzy - x3y2) dy=0.

2. Solve x? (y - px)=yp".

Bododn x* (y - px)=yp".

3. Solve (D2 + 4)y =xsin x.
o050 (D2 +4)y=xsinx.

4. Solve xp® =a+bp.
2805350 xp° = a +bp.
5. Solve (D*-5D% +8D-4)y=¢™.
28050 (D? —5D% +8D - 4)y = ¢*.
6. Solve (D*+8D%+16)y=0.
SEAIA VY (D“ +8D% + 16)y =0.

[P.T.0.]
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i~ Solve (],)2 - 2D 4 fi)y =8 (.\':"‘ + e+ gin Zx).
VORI (D - 2D 4 ) y = 8 (v + 62 + sin 2x).

dy

Solve & _ 2 log x.
da Y=Y g

D Qododw x gz +y=3"log x.
[x

SECTION - B
VES - D
Answer ALL questions. Each question carries 10 marks.
O Lafize)& RRATEERR0EY @Pa0R0. (98 (5% 10 fmtbbeu
(Marks : 5 x 10 = 50)

Solve (1 + xy) x dy + 1- xy)y dx=0.
SEAREISY (1

9. (a)

+xy) dy+(1 )ydx 0.

: Or
ay
(b) - SOIVE dx (x y + xy)‘= 1.

«%@om,m) di (& e ay)s1

gonal traJectorles of the famll
y of h oc cl 2B, s
Where a’ 1saparameter il

‘@’ Sov ‘
BT &%) 1% épo_émow{(ﬁ 002 503¢5 S Oenoao Gy,
Sosseay, §r63§'5bo& D '

(b)  Solve p2 +2py cot x = 2

Or
)y = €0S 3x - ¢og 2x .
TEotmn (D31, ),

®)  Solve (D2-3p, 4

= €0S 3x - cog 2

-2 1-1-112 R
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12.

13.

(a)

(b)

(a)

(b)

2 o 2 4
Solve (1) 4+ 20 4 ‘l)y =X 008 x

ReoBN (])2 49D 4 1)

Y=Xx cosx.
Or

Solve (D2 -2D + 5) y=e* .gin
APEOBO[L (D2 -2D+ 5) ¥ =e* . sin x

Solve (D2 + 1) 3'r

(D2 + 1) ¥ = cosec ¥ %0 S0t DVYed HES o Pododw.
Or |

Solve (3621)2 —xD + 2) y=xlogx.

AATOMUINGY (x2D2 -xD + 2) y =x logx.

CE Scanned with OKEN Scanner
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THREE YF AT B T AT ks '
EYEAR B.A/B.Se. DEGREER EXAMINATION — OCTOBER/NOVEMBER 2018

CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
Part II — Mathematics
Paper : ] — DIFFERENTIAL EQUATIONS
(For the Students admitted during-2015-16 Only)

Time : 3 hours : E » Max. Marks : 75

b7

éECTIQN -A
>p -9
Answer any FIVE of th;a foll(‘)wing questions. Each question carries  marks.
N 0 FHP eeriites Frosn. (98 [§95 5 2.
(Marks : 5 x 5 =25)

Solve xgl+y =y?logx.
dx

xd—y+ y =y%logx X0 FHoWN.

dx o

Find the orthogonal trajeétories of fa'mily of curves r_=a(1—cos0) ‘where “a’ 1s
‘parametre. ' oo ’

r=a(l-cosf) &R JE°© K000 @), 008 FoPEHNOT ERoR"H06. BY,E ‘@7 S

: L’)U"o"be‘?.

Solve p2—7'p+lb¥0.

p? —Tp+10 =07 F§oi0G. |
Sol\}e y=2px—p2.
y=2px—p° & AoB0s.

Solve (DZ -D- 2)y =sin2x.

(D? - D2y = sin2x %o &Godod.

(P.T.0]

C} Scanned with OKEN Scanner



6. Solve 5/,_.‘ - .fi._,l -8 fjl‘ .12 ’ = ().
axv?  da? dx
d'y  d?y dv

S 0T gd g9y = 0 B Ao30d.
ax’  dx® dx

3 s 2 1
7. Solve x* %2 0,290, 2y :10(x+—).
dx? dx? . X

.173L3‘y -2 a‘h
dx? dvy N

+2x22% 105 - 10(x+ 1) 5 APoBod.
X

8. Form the partial differential equatlon from x*+y°+(2— c)’ =a® by eliminating the

constants a and “c”

x4y 4 (z-c)’ =a? &S° ,ocs ,oowéeworé “o” 208k “c” o5 &oRoDdm sﬁ-:faot) 288 55y

n)cfbs’desvf‘gz Eraod.

| SECTION _B

aegaa

Answer ALL the questlon Each questions’ carrles lO marks.

9"?:2 EREY a)éym‘ééww L?J*’oin;in Lcoe?a La@é’u 10 XJJ’DCSJZJ&)

(@) Solve (1 +a;y)a’x+x(1 - xy)dy = 0.

*

y(l + xy)dx + x(l xy)dy 0 Ri) 530430%5063

-  Or,

(b) Solve dx_ 4y __dz :
0 G 4 2x—3y..

@1 dy dz

y -x %% _3. 3y ma”@&'ﬁoé

: 10 (a) SOIVG xy (p

+2)=2pyt 4 48,

2 (p? + 2) =2py° + 18 %0 3Bos0@
‘ Or
() Solve 253 _ 6yp*+ 2t <

:
2P~ 6yp 4t 2 FBoS0

(Marks 5>< 10= 50)

1-1-112
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=33
11 (&) Solve T2 nty

(1"\‘2 +3-(7§+ Zy
d~y dy

-4~+3 ¢

a2 T + 2y = xe* sinx_ D FBoNoA,

=axe"sinx .

Or
2

d’y
(b)  Solve Ex?+4y:e" +sinx +cos2x

dz

Iu? +'4y7= e” +sinx +cos2x X0 Godod. -

12. (a) 9 Solve (DZ R l)y =cosec x. cot x by the method of variation of parameters.
DT dBes 5%’)@ oo (D? +1)y = cosec x cot x B FHORBW.
: , " Or
| ~(b) Solve (xzD —xD - 3)y =x’logx. '
(%D - 2D - 3)y = x*log x %> FBoS.
13. (a) Solve the following partial differential equation of bharpit’é method px + qy = pq.

X +qy = pg © FEE 03D $ooxtErY TB)E5 IFS trgoe FPoBos.
(b) Find the integral of ptanx+ gtany =tanz by Legrange’s method.

ptanx + qta;i y = tanz & BToB 5g@95f 5@5@»@ §mﬁ°zéo&.

1-1-112
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THREE YEAR B.A/ B.Sc. DEGREE (CBCS) EXAMINATION —
OCTOBER/NOVEMBER 2018

CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
Part 11 - Mathematics
Paper ] — DIFFERENTIAL EQUATIONS

(Revised Syllabus w.e.f 2016-2017)
Max. Marks : 75

Time : 3 hours

o

PART-A‘
49

Answer any FIVE of the following questions. Each question carries 5 marks.

&5 1808 T0S° IDD 00 (FHOL SHTEHRO) RO 5 (%)% 5 HI°E,e0.
(Marké 5 x5= 25) ‘ |
Solve 3e* tanydx +(1— e*)sec? ydy =0.
3e* tan ydx + (1—e*)sec’ ydy =0 Q0BG

Solve S’eczyg‘lﬂr 2xtany =x°. -
X

Seczy;i—y 9% tany = x°&0 DeB0B0d0.

Find the. orthogonal Trajectories of family . of curves x%-'ry% =a£ where a 1is

parameter.
x% 4y _a?h ey He He0ow0 B, 002 SopEi0em §F63§5b05; Y& ‘a ©RIB
ST |

Solve xyP?+ P (3x%-2y*)—6xy=0.

xyP? + P (3x% - 2y%) - 6xy = 0 &0 HoS0é.
[P.T.0.]

C} Scanned with OKEN Scanner



9.

Solve (D% - . 6y =0.

(DY =D -6D)y=0 o DQOBOA.

6. Solve (D* - Dy =cosax,

(D* 1)y =cosx 0 Pobod.

7. Solve (D2 - 2D)y

=e¢%sinx.

(D*-2D)y = e*sinx % QOPOA.

8. Solve (x*D%_p ., Dy=logx.

(x*D? 3D+ Dy =logx % 3Bo30a.

PART-B
o
| Answer ALL q1‘1esti.onAs.l I'f)ach.qu.estion carries 10 nrllérk.s-.‘
52 (808 &) 5905 S5rEsEves mem Ls_é B8e% 10 27750, 0.
_ (Marks“: 5 xlO = 50)
(@)  Solve 2xydy — (x? +:yz-b'+1)j dx:O Fl

2xy dy — (x* +ly2_+ 1) dx = 0 o Gosod.

Or
(b) Solve -.:ETJC’(:CZ.)'3 +xy) =1.
dy 2. 3 s
a(x Y +xy)=1 20 BoS0s,
2

1-1-112R
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10.

11.

12,

- 13.

(a)

(b)

()

(b)

(a)

®)

(@)

(b)

Solve 4y?p? 4 2xy(3x+1) p+3x* =0.
4y*p? + 2xy(3x+1) p+3x3 =0 SHodod.

Or

‘Solve y+ px=p°x*.

¥+ px =pZx* B HowDoDw.

Solve (D° ~12D+16)y = e + )"

(D?-12D +16)y =(e" + e72%)? ) 3BoWoR.

Or
Solve (D? +9)y = cos® x.

(D? +9)y =cos’ x 0 AHoWD0.

‘Solve (D% +2D+2)y=x¢".

(D? +2D+2)y =xe* i:v@oéom.
| Or

Solve ('D2 % 2D+1)y= xZe* .

A

(D?—2D+1)y =x"€* %0 B0

Solve (D? +a?)y=tanax by the method of variation of parameters.

$oe0B00 DWDBED K)ge'.’é T°o° (D? + a?)y =tanax BV

Or

Solve [(1 + x)2 D*+(Q+x)D+ 1]y =4 coslog(l +x).

[(1 + x)ZD2 + (1+ x)D _+1]y =4 cqs log(1+x

) %0 AoV,

1-1
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THREE YEAR B.A/B.Sc. DEGREE EXAMINATION, DECEMBER-2017
CHOICE BASED CREDIT SYSTEM
'FIRST SEMESTER
PART - I : MATHEMATICS
PAPER - I : DIFFERENTIAL EQUATIONS

(Revised Syllabus we.f. 2016-17 only)

Time : 3 Hours - Max. Marks : 75

PART- A

stions. Each question carries 5 marks. 5%5= 25)

Answer any Five of the following que
8 BES 5 Soloen.

& (Bob TS DB ol B SErTe aE

1. Solve (x.2—2xy—y2)dx'_(x+y)2dy=0; (5)
(x* _oxy—y)de—(x ¥ y) dy=0 i oS
4 &)
2. Solve cos’ 2 y=tanx.
' dx |
cos’ xéy— 4 y=tanx ® FopOED.
dx
' )
3. Solve p2x2 = y?.
p2x2 = 2 é) 5"@0538{)30
[PT.O-

1
1-1-112R £l
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4. Solve y= P('\. -~ 1)) 4 _(_I_ .
p
y= p(.\‘ - b) + L % potibm.
&

5. Solve (D'+6D*+ 12D+ 8)y=0.

(D*+6D’+12D+8)y=0 % ot
6. Solve (Dz— 3D+ 2)y =coshx.

(Dz— 3D+ 2)y = coshx % FgoHiw.

"7.  Solve (x:Z D’—xD- 3)y =x"logx.

(x'2 D’—xD- 3)y =x"logx % FBoHim.

8. Solve [(5 +2x) D~ 6(5+ 2x)D+‘8] y=0-
(54 2x)' D~ 6(5+ 2x) D+ 8]y=0 ® o
. ' SECTION- B

Answer all questions. Each question carries TEN marks.

& (800 &) (DH0DH Jhrerdtmen [FPansn. [H @’J%f;\é: D8 AeBen.
9. a) Solve y(xy + 2x2y2)dxl+ x(’xy - xzyz)dy =0.

y(xy + 2x2y2)dx + x(xy - xzyz)dy =0 D JPHoHEw.
OR
b) Solve xfl{ +y=y"logx.
dx
LE o T
x—=-+y=y10gx % pobiw.
dx

1-1-112R | ' o))

(5 x 10 = 50)

(10)
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10. a)  Solve p*+ (2x - _\’Z)P2 =2X"p .
3 - N
P+ (.?.X = y“)p2 = 2)())2p % DbHoHdm.
OR
b) Solve yZ logy - xp)) Fs pll
Y logy =xpy+ p’ & FHoE».
11. a) Solve (D3— 5D*+7D- 3)y =e** coshx.
(D’—5D%+7D-3)y =¢™ coshx & TR
OR
b) SoWe(DZ—4D+3)y=sm3xum2x.
(DZ— 4D+ 3)y — sin3xcos2x & FGOLD.
12. a) Solve (Dz—— D)y = XCOSX.
(Dz— D)y — XCOSX £ FHod.
OR
by Solve (D?~2D+5)y= e sinx.
(D*-2D+ 5)y =€ sinx & RGO,
" ' _ ¢*log x bythe method of variat
13. a) Solve y =2y +Y= 2
x . > DR
Y- 2y +y=e logx & Soedndoo BB DY
_ &)
1-1-112R

ion of parameters.

(10)

(1%)

(10)

(10)

TRO° FoBHOTHXW.
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1-1-112

THREE YEAR B.A./B.Sc. DEGREE EXAMINATION DECEMBER - 2017

CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
PART - 11 : MATHEMATICS

PAPER - I : DIFFERENTIAL EQUATIONS

(For the students adm

Time : 3 Hours

- dy 2 .
1. " Solve (14 x?)==+2xy —4x =0.
( Vot 2P |
2 dy 2
1+x%)=+2xy—4x
(1+27) 5o+ 29
. dz
2. Solve —=—=—"
: yz oz Xy
idf:_alséz—:&#@oéo&!
yz zx X :
‘3. Solvex2p2'+xyp—6yz=0-
x2p2 +xyp _-6y2 =0 Y 5"@0{50&

SECTION- A

Answer any Five of the following.

1-1-112

R o i

= O 1263 53"@0'53533

@)

itted during 2015-16 only)

Max. Marks : 75

(5 x 5=25)

(3)

)

€)

[PT.O.
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4. S()"y"‘ (‘ - '\7)‘)(]) - ,) - l) . (5) vro” %%

(» ——.\'[J)([’ -]) = p D Fhodod.

SOI\'C (DJ“:D;‘!‘ Z‘Dz—' 2D+ l)y = 0

n

(5)
(D*~2D"+2D°~2D+1)y=0 s goson.
6. Solve (D2—3D+ 2)y=coshx. (5)
(D3—3D+ 2)y = coshx % Fobosod,
- 7. Solve (x2 Dz—xD+1)y_=2logx. (5)

(¥*D’-xD+ 1)y =2logx >0t

8. Form a partial differential Equation from z =(x2 +a)( 9 +b) by Eliminating The
Constantsaand b.

=(x" +a)(y* +b) & 3 Bomgans @ HB0 b e Fonos B8y 8K o580
3508867 (008, G ‘ ‘
| SECTION- B

Answer ail the Five questions. Each question carries 10 marks. (5x10= 50)

9. a) Solve(y +2/)dx+(xy +2y 4x}dy 0.

(y +2y)dx+()cy +2y° 4x)dy O 2 évéoiﬁo&.
| OR |
3 2

X Y
a’+ A b2 A

b) ~ Show that the set of family of coaxial circles =1 is self orthogonal.

2 2
X

- +
at+ A1)

=1 o S8 S8 S0h0 wo@o el rHoSod.

1-1-112 @)
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Solve p~ 4

i0- »,

" +2pycoty -
/ Pycot x =1 4

N Mop, L
SDQO‘:DE’)JJ.

OR
b) Sol.ve Y=2xp 4 52 P
y=2xp+x2pt % Pogg,
TH S iy Z}*é%* By =8¢y,
g

- +13v= X .
) | = 13}7~8€‘3 sm2x&$§0§m

| OR
2
b) Solve (D —4D+ 3)y =sin3xcos 2y

(D2~ 4D+ 3) Y =sin3xcos2x FHOHX.

- ' 2, 2 |
12. a) Solve (D +a )y =Secax by the method of variation of parameters.

Hoedneoe DSBes KJ%@ el (D2+ az) y=secax L rooHiw.

OR
2 _ 42
b) Solve(xzD’+JiD—4)y-x-

(x2 D27+ xD- 4)y =57 % FHOW.

=x+yby lagrange’s method.

(y+z)p+(2+x)q

13. a) Findthe Integral of .
N _{( ’ éf}m:’\)}\ Sm‘»\ 0.
y & Brodd 55980 SHEOTR

(y+z)p+(2+x)q:X+

(3)
1-1-112
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OR

b)  Solve the following partial differential cquation by charpits method

PXY+pgqy =z,

PRVEDPG+qy =1z & 3 os8508 50869 05 DG oo FHosos,

o)

oo

)
[PT.O.
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THREE YEAR B.A./B.Sc. DEGREE EX AMINATION, MARCH/APRIL. - 2017
FIRST YEAR EXAMINATION
Part - 11 : Mathematics
Paper - 1: DIFFERENTIAL EQUATION AND SOLID GEOMETRY
(W.ef. The academic year from 2010-2011)

*

Time : 3 Hours Max. Marks : 100

Answer Any TEN questions, choosing atleast ONE from Each Unit. Each
question carries 10 marks.

58 om0 EIBID @8 BHS 0HED 5O BHOD SEPGeHB0e)
©8 t:_’a{léo 10 SPBY0-

(10><10=100)
Unit-1
(DIFFERENTIALEQUATIONS)

F"dinén.

1. Solve (1+e"’y)dx+e"’y (l—%)dy =0

? 2EpBBEasOD 2rpoSos.

2. Solve (xy3 +y)dx+2(x2y2 +x+y)dy=0

B ‘éﬁbééeaé)azé) FHOHED

3. Solve p* +2py cotx =y’

48BN RO

al trajectories of the system at circles Yyt 25

P4y 425 y+1=0( [ oetyRe Som8) O HT BEOD 008 D

[PT.O.

R-135 M)

y+1:0, f being

OO ol

SR

G Scanned with OKEN Scanner



Unit - 11 s

(DIFFER ENTIALEQ UATIONS)

N

Solve (D' =314:2) y=cos 3x cos 2¢
B SE8Smxm AoHiv.

6.  Solve (1)2 +2D+ l)y =X COS X

(D +2D+ I)y =xcos x O FHoHw
7. Solve ( Dy az) y = tan ax by the method of variation of parameters.
B0 Hed B 558 oxo° (D2 +a2) y=tan ax & PHOLHHD

8. Solve (xzD2 -xD - 3)y =x* log x.
R BEBesD B FBoHEH
Unit - 111

(PLANES AND LINES)

9.  Find the equation of plane through the points (2, 2, 1), (9, 3, 6) and perpendicular to the
plane 2x+ 6y + 6z =9

2x+6y+62z =9 od Sosn 5 eonorr SF&r (2, 2, 1), (9, 3, 6) DotHHe Hore G Serdy
G BB B,

10. . Show that the equation 6x* +4)* —=10z> —11xy + 3z + 4zx = 0 represents pair of planes.
Also find the angle between them.

6x* +4y" —10z° —11xy+3yz+4zx =0 05 3DEBesn Sobne AR SrDK06R
D08, B s gk 5583"«‘0& BRS04,

11.  Find the image ofthe point (1, 3, 4) in the plane 2x— y+ z +3 = 0,

2x-y+z+3=0, o 75 (1,3, 4) DothHd T¥) (588oerd) EPSod.

12. Find the length and equations of S.D between the lines
¥x-3 y-8_ z-3 x+3 y+7 z-6
3 -1 1 -3 2 4

2 Bpo 5ot o) 08 Bp 6D 0 BSEEEmEmeH SO0,
R-135 @)
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13.

14.

15.

Unit -1V
(SPHERES)

Find the equati 3
> équation of the sphere ] i
St ied L \io:gh the points (1, -4, 3), (1, -5,2), (1, -3, 0) and whose

(1,-4,3),(1,-5,2)
b ) > =y § 1,_3,
58088850 é:ﬁnﬁ"éo(&,_ 0) Bt fore Him Sogsn x+y+2 =0 oSuin B fio 7Y

Show that the two circles x? + y? 472 — y+22=0 +z=12
VR : B =0, x-y+tz=24
X +y'+z22+x-3
y+z-5=0, 2x-y+4z-1=0 li nd
equation. ) y+4z-1=0 lie on same sphere and find its

P4yt +x=3y+z-5=0

2
X4y 42—y +22=0,x-y+z=2
D GOt Ed & FE G, DADEGeD

2x—y+4z-1=0 o SEren &8 F¥E

ESoRP0dm.
Find the equation of sphere through the circle given by x* + Yy +zt =2x—4y- 11=0,

12z+5=0 and through the po'mt(l,-l, -1).
+2° +2x—y-l—122+5=0€9«$3 B

Beasn ERMTKD.
em of spheres of which two member

X2+ Y+ +2x—y+
Howe PE®

X4yt +2 —2x—4y-11=0, %’ +y*
(1, -1, -1) Dotwd rHow S A
ial syst

S arc

Find the limiting paints of the co-ax

16.
N S S
B $50EBeweD Ko FoESen EORCHR) SFE B 15D ) o580 DoHIHOD ELrS0s.
Unit-V
(Cone And Cylinder)
17. Find the vertex of the cone Tt +2)° +27° —102x+10xy+26x—2y+2z -17=0
25 DR Sogns G0, SO &oirR0d.
x‘.’ y'.’ :2
201 ¥ L +==0
18. Show that the reciprocal cone of axt +by* +ez’ =018 the cone —*+ 777
¥ 1L E o0 op ol
—+ + &0
ax’ +by2 +czt =0 90 $oq0d) &8, @555265 Boaod Ty e
3)
R-135
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- 135

X -
; allel to the line —
19.  Find the equation of the cylinder whose generators are par 1

whose base curve is x2 + 2y*=1,2z=3

. 7 _ =3 " Ko P55
w38 Spen 1= =2 56 smosiorr ot 4 S X1 42" =1, 2 #

) $EBesn SHAS0A,

: 2 2 +4y— 1= 0 5
20. Find the equation of the enveloping cylinder of the sphere x* + y* +2z° —2x+4y
having its generators parallel totheline x=y =z

al8 Tpew X=y=z $% Ssrostorr ot 2 +y2+20 =25+ 4y —1=0 OB Ry
o) 0‘57260302305 c\’zgét’t{)& E0RPS04.

)
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THREE YEAR B.A./B.Sc. DEGREE EXAMINATION, OCT./NOV.-- 2016
CHOICE BASED CREDIT SYSTEM

FIRST SEMESTER

PART -11: Mathematics
PAPER - 1: DIFFERENTIAL EQUAT!ONS
(Revised Syllabus w.e.f. 2016-17)

‘Time : 3 Hours
 Part-A
Answer any Five of the following questions. Each

& (8od T 530 o HHOH SEPEEESID &

i a ’1’}'2 ;0
1. Solve dx+ o

2
&, [12Y _0 o o>

(x'+'y+1)%=1 S HOTH.

3. Solve: 'pz'—5p+6=0_

p2_5p+6=0263 3"@0*53?533

4. Solve: (y-_-xp)(P—l)'—‘ p

(y-xp)p-D=P® FHoDHRD

5. Solve: (D’ LD +4D+4)y=0

(D +D* +4D+4)y = 0% HOTHR-

1-1-112R 1)

-

Max. Marks : 73

question carries 5 marks. (5%5=15)

Sodw. 28 &> o SPE)E0.

@1

CX Scanned with OKEN Scanner



6.  Solve: (D4 4)y = Sin2x

(D + )y = Sin2x & FHoSH5D.
7. Solve: (x’D* -3xD+5)y = x"sin(log x)
(-1‘21?2 -3xD+ S)y = x?sin(log x) & HoHSBM.
8. FindPlof (D? +7D+10)y =1+x.

PI% (D' +7D+10)y=1+x re &Hrecodn.

Part-B

Answer All questions. Each question carries equal marks. (5%10=50p)

& (806 o) [BHeS SErEEEve: Ercin, of) (BHOD IeGHED DS,

9. a) Solve (3{1)2 —y?)a’x—(szy—xyz)dy“: 0.
(332 - ¥ )dx—(2x%y - xp* )dy =0 FBoHEm
OR
b)  Solve Wy x|
dx x ’
ay y :
g."‘; =y’x. FBOHSZ0
10. a)  Solve y?—yyp_x2p2 .
y:i-xp -x’p?’=0 @*@bzﬁ)é}ﬁ
OR
b) Solve x=2p° +—y—.,
)2
X = 2p3 +% @@Oﬁ)&’l})

C} Scanned with OKEN Scanner



12.

13.

a)

b)

b)

b)

Solve (Dl =3D *'2).\' =e" given that y(0) = | and y'(0)=7.

2
(D "‘31) + 2) ," = e‘r %‘QO&’D:}D, y(()) = ]E\(ﬂaﬁﬁ)) y,(()) & 2 {gg):::ﬂ;-\:‘}:{)f:‘ .
OR

Solve (D? +5D~6)y = Sindx.Sinx
(D2 +5D -~ G)y = Sindx.Sinx 5@&0:5)2633
Solve (D*~7D+6)y = ¢*(1+x)

(D*~7D+ 6)y = e**(1+ x) >HoHEm
OR
Solve (D2 —4)y=xsinx
(Dz _4)3’ = scsin X HoHED
Soive (D*-2D+2)y=¢ tanx by the method of variation of parameter.

& =¢* % FHotHdn?
Variation of parameter 588 &0 (Df _2D+2)y=¢"tanx &

OR
Solve [(x +3)°D* —4(x + 3)D + 6] y =log(x+3)

S
[(x+ 32D —4(x+3)D+ 6]y =log(x+3) FpoDH

R&)

C} Scanned with OKEN Scanner
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THREE YEAR B.A./B.Sc. DEGREE EXAMINATION, OCT./NOV.-2016.
CHOICE BASED CREDIT SYSTEM
PART-II : Mathematics

Paper- I : Differential Equations

(w.e.f 2015-2016)
(For Supplementary Candidates only)

Time : 3 Hours Max. Marks :75

Section-A
awﬁa’m -2

Answer any Five of the following questions.Each question carries 5 marks.

53;‘? 2D @’J@eﬁ) aas"aw@ Lss"d’méw B8 ©ES b Loetiopen.

(5%5=25)
L Solve(1+m)dx+x(1-)d =0
(1 +xy)dx +x(1 _ xy)dy = 0 % Fposol:
dy -
Ziy2xy=e .
2. Solve T
B gy & PHOSE
dx
s method.

_Px) (P- 1)=P by Clairaut’
) _ = a" 060&-
g 5508 P 1) =P &0

' T.0.
1-1-112 (l) :
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4.  Solve (D*= 5D +6)y=¢"

(I)l B I) |- (‘)1. :(" Ah)) Q“ﬁ,u‘i;( )(135.

A, SO]\'[‘ S ny. ye= -J_\-s"" A "Sihg thC |ncth(
)= 4xsinx & i)"finoéo&.

Soedrehe DB ix’)c:g&ﬁ) Aana@rhod y'+)

: dv dy
6. Solve —==3x+2 ) = +5x+3y=0.
dr ’ dr

dx ay
B o 3x+2y, Z+5x4+3y=05 > oSob.
g x+ 2y, dt+ x+3y &

..o the constants a and b,
7.  Form a partial differential equation fromz=ax+ b%’ by elminating

; “ cod.
z=ax + by & a%Bo b RS Boggoond, 88 wSgesd HEEETY & o

8.  Solve the following partial differential equation y-z2)p+ & =y)q =2 =k

(Bob S8E wiSses KO8R FBoiSol.
-z2pt(x—-y)g=z—x
Section - B
8)8,?5530 - é’)
; Anéwer all the five questions. (5%10=50)
HID atd @@oé a’:ﬁm;ﬁa’mw ta°063326:o
9. a) Solve(l1-xyydx—(1+ xy)xdy = 0. |
(1 —xy)ydx —(1 +‘xy)xay =0 % rposod.
OR

b) Find the orthogonal Trajectories of the family of curves y = ax” where ‘a’ is the

parameter.

y=ax" o Szre Henowo @Y von HoPined EESod.

10. a) Solve y =2Px +x*P* (Solvable for ).

y =2Px + x*P* % Ffobol.

1-1-112 | @)
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b)
11. a)
b)
12. a)
b)
13. a)
b)
1-1-112

OR

Solve y = 2Py 4 v2p2 ¢ ~
olve y = 2py 4 VP (Solvable for x)

% J' e Ep.\' <4 “Jp_\ Eﬁ) 5“&0“50&

Solve (D - 5D? + 9D — §)y = ¢* + cosx.

(D~ 5D+ 9D — 5)y = ¢* + cosx & ool

OR
Solve Q+ 2-(-114- y=XCOSX.
dx® dx -
dby + 2% +y=XCOSX % JBoSod.
\‘

dx? |

Solve (x2D? — xD + 2)y = xlogx.

(x*D? —xD + 2)y = xlogx & JHoSol.
OR

Solve (D? + a*)y = Tan ax, by the method of variatiog of

(D?+ @)y =Tanax & HTPH

= =2

Solve x2p*> +)y*q* =z
xzpz + yzqz = 22% JhoSod.
OR

Find the general integral of xp +yq = -

xp+tyq4=

b+t

& et DEPEORERY BOTDDD.

parameters.

© DSBes écgéB?D SHTPA0D Fhosod.
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THREE YEAR B.A./B.Sc. DEGREE EXAMINATION, OCT./NOV.2016

CHOICE BASED CREDIT SYSTEM
PART-11: Mathematics
Paper-1: Differential Equations

(w.e.f 2015-2016)
(For Supplementary Candidates only)

Max. Marks :75

Time : 3 Hours

Section -A

Degrlidn - b
carries 5 marks.

Answer any Five of the following questions.Each question

HEe o BEE FTOX ek, (68 BFS B L.

(5%5=25)

|+ e+ x(1 =)y =0

1. Solve(
Jdy = 0 8 ool

(1 e 1=

d 2
2. Solve ?ji"r 2xy=¢€" -
@ py=e” & FHOIE
dx N
3. Solve (y—Px) P-1= Pby Clairaut’s method.

ael5 D586 G-pD @)= p % argoisod

[PTO.

| 1
1-1-112 O
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ot

£, Solve (D= 8D + 6)y = ¢,
(l)\ g!) ! ())]l ‘,! ."\;\1 “w}ﬁf;\k\tﬁ(”‘l
J j of variation of paramelers.
5. Solve y"s y = dysin v using the method of Vi
o &
y = 4x8in X & Fa*’()o:w&

SOEQEO OSSm BISB0 AB@rAoD Y+ )
W

) I L
6.  Solve = =3x+ 2 LAY PR 3y=0.
dt at

av dv

—=3x+2y, -;— +5x4+3y=0% FooSok.
t

by by eliminating the constants a and 5

Form a partial differential equation from z=ax
EpgeaR)) (70508,

7.
z=ax+ by & g bk b &8 Roggeani, BY eSB0D )
8. Solve the following partial differential equation (y—2)p + (x =) =2~ %
(808 rEY w5teD BEBeR) FHoSoE. ‘
-z)p+@x-y)g=z-x
Section - B
Dgriisn - &
| Ahswer all the five questions. (5x10=50)
| 530 0t PR HErESEDe [EPas
9. a) Solve (1 ~xy)ydx— (1 +xy)xdy=0.
(I —xpy)ydx — (1 + xp)xdy =0 S FEoL0a.
OR '
b)  Find the orthogonal Trajectories of the family of curves y = ax” where ‘a’ is the
parameter.
y=ax" oF Sgre SHEnono @8 ©on Hodtsvek 8508508,
10. a) Solvey=2Px +x?P*(Solvable for y),
¥ =2Px + x’P* % FBoSol,
1-1-112 )
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4

b OR
) Solve y = 2Px + y?P? (Solvable for x)

y=2Px +yP? % dHosol.
11. a) Solve (D?-5D*+9D - 5)y = ¢* + cosx

3y
(D? - 5D?+ 9D — 5)y = &* + cosx & FboSob.

OR
b) dz_il dy
dx
d’y . dy |
e + 2-d—x+y =xcosx S yfosod.

12. a) Solve (x*D*~xD+2)y= xlogx.

(x?D? = xD + 2)y = xlogx & FooSob.
OR

- b) Solve (D?+ %)y =Tan ax, by the method of variation of

(D> + a?)y — Tan ax & oao"f;bé:e:

13. a) Solve Y=z
' xzpz 1 y2q2 =22 FoS0s.
OR

he general integfal of xp +yq =z

xptyg =2 & AP0 SEFEOTRY &K

b) Find t

T

{-1-112 3)

parameters.

DSBed 0365@&) &HFBeR0D posod.
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THREE YEAR B.A/B.Sc. DEGREE EXAMINATION, JANUARY - 2024
CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
PART - Il : MATHEMATICS
PAPER - I : Differential Equations
(Under Regulation 2016-2017 Supplementary Only)

(For Candidates who appeared in 2020 exams or earlier)
Time : 3 Hours ' Max. Marks : 75

SECTION-A
Ageiidn - @
Answer any FIVE questions. Each question carries 5 marks.
Bod =8 S 0d BHOH Jrrrsinen [FPaHS. 8
AodNo’. ‘
1. Solve ydx—xdy+logxdx=0.
ydx—xdy +logxdx=0 D @@oiﬁo&.
a* (xdy - ydx)
2+yr

(5%5=25)
5 S5 Bt EOR

2. Solve xdx + ydy =

2 kN d'
xdr+ya§’=———————a (fdiyy ‘)-:a» BoPod.

3. Find the orthogonal trajectories of r=c(1-sinf), ¢ is parameter.

r=c(1-sin ), ¢ GODESEH ©oB BoBED 48880 EFPSod.

i

4. Solve P —7p+12=0,p=z;_.

4
2_ = = % Joosod.
p’-1p+12 0,p .

1-1-112R @) Z{/

[PT..

A
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1 Y 0 when
) - . anid == = 0 when y .
Ldy d, £ 2p=0 with v 0 an dy

a . 2 )i o f’, b ‘
Finnd the solution 08 557
i d’y N

b.
v s pdore 53t 2y=0 Ang ..
W e ) \Eﬁf‘!j,“)"o}!) 3. Ay ; S5
gl wovSR y=0 B0 o o
KSRt 5 5 y
. c[ptoaDal)yEre LT g
g. Findthe pnnieu!anntcgral Of( E ) y
3 d Al & Y méﬁo&
(1)2 —-21’)41)_1':.1"47’. D= % 5 &"ééé FUIS
M f‘z"-,f-,l'}”").:n..‘fi”.
. Usingthe solution y=x, find the general solution of x"y" +X
an Uada , L0 Gy e BT EHTTl
=y SPESS GHEROD X'y XY - y=0,x#
2 D= d
8. Solve (D‘ -3D+ 2))’=Sm no=_ .
d
(DI—BD+2)y=sinx, == % FoSob.
SECTION -B
deeiio = 8
Answer All the questions'. Each question carries equal marks. (5%10=50)
o) C{Jfa;céo HBgrdnen Emdﬁ»a’m ©8 BH® e etpen Goraw.
9. a) Prove that the sufficient condition for the differential equation Mdx+ Ndy =0 to be

oM _ON
exact is that "a'y" = E\j ;
oM 6N

i R

M+ Ny =0 ©5%0% ‘éfbééeao, OPrginy SR8 Hogd dodio > o

QrRoSol.
(OR/8ww)

b) Solve seczy(%)-l-thany:f,
Secz'y(%)+2xtan y=x"& FHoSod.

10. a) Solvexypz—(x2+y2+1)p+xy=0,p=%_
} 2

) a)
xyp -(x2+y2+l)p+xy=0,p=;£ & OB,

1-1-112R @)
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(OR/E)

b)  Solve y= wpl 2px,p= & :
dx

V= v 1.9 dy
y=yp -~p-rqp=~(é—r 5 FfoSol.

11. a) ‘Solve(D3+DZ—D—1))-=coslr,D=i

4

(D’ +D2—D—I)y=coslr, D=Zd- 2 FHosod.
X

(OR/Be)

b)  Solve (D2 -2D+5)y=e".D :.d_.
: dx

(D2—2D+5)y=e“,D=% 2 FBoSol.

d

12. a) Solve (D*+4D-12)y=(x-1)e". D=—.
X

(D* +4D-12)y =(x-1)e”, Dz% % FPool.
(OR/Sw)

> d
Solve (D°-2D+1)y=xe’ sinx,D=—.
b) 0 ( )) xe” sinx &

2 ) : d _ o
(D‘—ZD-E—I)y:xe’smx,Dz:? S FrHoNok.
: X

r oV [y - (7'
13. a) Using the method of variation of parameter, solve (D~—3D*2) y=sine D—:i:
" | ) - 1 . -
SorBoe Sry H589 ES@AN0D , (DF-3D+2)y=sine”, D==- % fool
" L dx
(OR/See) |
. - . . d
~b) Solve x3D’y+3x”D'y+ny+y=.\'+log.\,D-—(E.
2 iy ' o d oaals
x3D3y+3x“D’y+ny+y:_\'+10g.\, D—-(?\: D S @Obo&.
[
3
1-1-112R 3
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